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P3 Chilli Challenge — 8" June
Mild
as+(_J=11

w( ) +13=17
A2+2+2=

d3+3+3=

a10-(J-6
p20-(J-18
9(J-7-10
01,357

1) How would half past 10 look be
shown on a digital dock?

J) A baker made 16 scones. He ate 1
and dropped 2 on the floor. How many
did he have lft to sell?

Spicy
035+ )-42

b 60+(_J- 100
(] +20=100
o] -20-60
o(J-10-1
n2x11=
97x5=

h) Write two hundred and
seven in digits.

0 Write 482 in words.

 Liam bought a banana for 10p. The
shopkeeper gave him 40p change. How
much money did Liam have to begin
with?

Hot

@17 +(J-100
w(J +25-100

o 52+ J-80
o (J-15-125

) 9763:43
N3x6=

94x8=

h) Write 1,651 in words.

0 Write three thousand, four
hundred and eight in digits.
D Pippa has £1.49 i her purse. She wants to

buy a new pen for £3. How much more does
she need?




